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ur fates seemed intertwined. Which one is similar to

)
the underlined word?

A. complicated B. destined

D. complex

C. linked _
Find the synonym of the word “Morose™.
B. Gloomy

A. Annoyed
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Question No. 2 [8 Marks]
Write an essay on the “Role of Telecommunications in supporting economic and business

activities during the Covid-19 pandemic situations, www.prebd.com
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Question No. 5 Answer the following questions. [Marks: 3x 8 = 24|
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(g) What SDLC? List the stages involved in the SDLC process. Which stage ensures the user acceptance

i

of the system?
(h) OSI Model 47 rer #17 o FRIROTHR B 2
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W,  Our fates seemed intertwined. Which one is similar to the underlined word?

& complicated . destined o, linked 7, complex A
9. Find the synonym of the word *‘Morose’

=, Annoyed %, Gloomy 1. Moody 9. Displeased T, o
v. The antonym of the word Terrible’ is-

%, Soothing %, Frightening . Scaring 9, Horrible B
».  Find the correctly spelt word- www.prebd.com

@. Abeyence 4. Abayance . Abeyence 9. Abeyance 8.9
so. *A legal authorization of debtors to postpone payment’ is known as-
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In a memory-mapped 1/0 system, which one is not present? www.prebd.com
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